



New Applications of “Abeer-AL-Tememe” Transformation in partial differential equations

Abeer F. Abaas ^a, Ali H. Mohammed ^b

^a Mathematics Dep., Education College for women /Kufa University Iraq-Najaf, abeerf.alshabani@student.uokufa.edu.iq

^b Mathematics Dep., Education College for women /Kufa University Iraq-Najaf, prof.ali57hassan@gmail.com

ARTICLE INFO

Article history:

Received: 19 /08/2024

Revised form: 27 /09/2024

Accepted : 28 /09/2024

Available online: 30 /09/2024

Keywords:

Abeer-Al-Tememe Transform,
Partial differential equations

ABSTRACT

The Introduction of integral transforms as a partial differential equation solution technique results from the tremendous significance of differential equations and integral transforms in scientific domains. This study proposes a new integral transform Abeer Al- Tememe transform. The suggested transform applications has demonstrated its capacity to resolve partial differential equations.

<https://doi.org/10.29304/jqcm.2024.16.31692>

1. Introduction

An equation with the derivative of one or more functions is known as a differential equation in mathematics. An ordinary differential equation is a differential equation that has all of its derivatives with respect to one variable. A differential equation having derivatives with respect to several variables is called an n-degree partial differential equation, where n is the greatest derivative connected to the differential equation. The partial differential equation's solution is a function that results from utilizing the process of mathematics to solve it; when this function is introduced into the equation, it takes on a form of identity [5, 7].

Because partial differential equations can generate mathematical formulas for real-world applications involving numerous variables, they are regarded as powerful tools. As a result, partial differential equation solving has attracted the attention of many mathematicians, and numerous methods have been put forth to find both approximate and exact solutions to these kinds of issues [14,15].

*Corresponding author

Email addresses:

Communicated by 'sub etitor'

Many scientific and technical problems can be solved with the help of integral transformations [6,8,10,11]. Over time, mathematicians have created a variety of integral transformations that are useful for solving partial differential equations [2,3,9,12,13].

In 2016 [4], the Al-Tememe transform defines certain fundamental concepts of differentiation and integration and is utilized in the solution of certain types of PDEs with variable coefficients .

In 2017[1] , the researchers use Al-Tememe transform to solve the linear systems of first and second order of partial differential equations with variable coefficients and solve linear systems of partial differential equations by matrices

2.Definition and Basic Concepts

2.1 Definition of Abeer-Al-Tememe transform

Abeer Al-Tememe transform is described as $AT(f(x))=\int_1^\infty x^{-\frac{s+1}{s}} f(x)dx, s > 0$ and we can write $AT(\mu(x, t)) = \int_1^\infty t^{-\frac{s+1}{s}} \mu(x, t)dt = w(x, s)$

Such that $\mu(x, t)$ is a function of x and t

2.2 Some properties of Abeer-Al-Tememe transform

2.2.1Linearity Property

The Linear property that is characteristic of this transformation is

$$AT[a\mu_1(x, t) + b\mu_2(x, t)] = aAT[\mu_1(x, t)] + bAT[\mu_2(x, t)]$$

where a, b are constants while the functions $\mu_1(x, t)$ and $\mu_2(x, t)$ are defined when $(t > 1)$.

2.2.2 The partial derivatives of Abeer-Al- Tememe transform

If $AT(\mu(x,t))= w(x,s)$, then

$$1. AT[t\mu_t(x, t)] = -\mu(x, 1) + \frac{1}{s}w(x, s)$$

Proof:

$$\begin{aligned} AT(t\mu_t(x, t)) &= \lim_{l \rightarrow \infty} \int_1^l t^{-\frac{s+1}{s}+1} \mu_t(x, t)dt \\ &= \lim_{l \rightarrow \infty} \left\{ t^{-\frac{s+1}{s}+1} \mu(x, t) \Big|_1^l - \int_1^l \left(-\frac{s+1}{s} + 1 \right) t^{-\frac{s+1}{s}} \mu(x, t)dt \right\} \\ &= -\mu(x, 1) + \frac{1}{s}w(x, s) \end{aligned}$$

$$2. AT[t^2\mu_{tt}(x, t)] = -\mu_t(x, 1) - \left(\frac{1-s}{s}\right)\mu(x, 1) + \frac{1-s}{s^2}w(x, s)$$

Proof:

$$\begin{aligned} AT[t^2\mu_{tt}(x, t)] &= \lim_{l \rightarrow \infty} \int_1^l t^{-\frac{s+1}{s}+2} \mu_{tt}(x, t)dt \\ &= \lim_{l \rightarrow \infty} \left\{ t^{-\frac{s+1}{s}+2} \mu_t(x, t) \Big|_1^l - \int_1^l \left(-\frac{s+1}{s} + 2 \right) t^{-\frac{s+1}{s}+2} \mu_t(x, t)dt \right\} \\ &= -\mu_t(x, 1) + \frac{1-s}{s} \left[-\mu(x, 1) + \frac{1}{s}w(x, s) \right] \end{aligned}$$

$$= -\mu_t(x, 1) - \left(\frac{1-s}{s}\right)\mu(x, 1) + \frac{1-s}{s^2} w(x, s)$$

$$3. AT\left(t^3 \mu_{ttt}(x, t)\right) = -\mu_{tt}(x, 1) + \frac{1-2s}{s} \mu_t(x, 1) - \frac{(1-2s)(1-s)}{s^2} \mu(x, 1) + \frac{(1-2s)(1-s)}{s^3} w(x, s)$$

Proof:

$$\begin{aligned} AT\left(t^3 \mu_{ttt}(x, t)\right) &= \lim_{l \rightarrow \infty} \left\{ \int_1^l t^{-\frac{s+1}{s}+3} \mu_{ttt}(x, t) dt \right\} \\ &= \lim_{l \rightarrow \infty} \left\{ t^{-\frac{s+1}{s}+3} \mu_{tt}(x, t) \Big|_1^l - \int_1^l \left(-\frac{s+1}{s} + 3\right) t^{-\frac{s+1}{s}+2} \mu_{tt}(x, t) dt \right\} \\ &= -\mu_{tt}(x, 1) + \frac{1-2s}{s} \lim_{l \rightarrow \infty} \left[\int_1^l t^{-\frac{s+1}{s}+2} \mu_{tt}(x, t) dt \right] \\ &= -\mu_{tt}(x, 1) - \frac{1-2s}{s} \mu_t(x, 1) - \frac{(1-2s)(1-s)}{s^2} \mu(x, 1) + \frac{(1-2s)(1-s)(1)}{s^3} w(x, s) \end{aligned}$$

$$4. AT\left[t^n \mu_t^{(n)}(x, t)\right] = -\mu_t^{(n-1)}(x, 1) - \frac{(1-(n-1)s)}{s} \mu_t^{(n-2)}(x, 1) - \frac{(1-(n-1)s)(1-(n-2)s)}{s^2}$$

$$\mu_t^{(n-3)}(x, t) - \dots + \frac{(1-(n-1)s)(1-(n-2)s)\dots(1-s)}{s^n} w(x, s) ; n = 1, 2, \dots$$

Proof:

$$\begin{aligned} AT\left[t^n \mu_t^{(n)}(x, t)\right] &= \lim_{l \rightarrow \infty} \left\{ \int_1^l t^{-\frac{s+1}{s}+n} \mu_t^{(n)}(x, t) dt \right\} \\ &= \lim_{l \rightarrow \infty} \left\{ -t^{-\frac{s+1}{s}+n} \mu_t^{(n-1)}(x, t) \Big|_1^l - \int_1^l \left(-\frac{s+1}{s} + n\right) t^{-\frac{s+1}{s}+n-1} \mu_t^{(n-1)} dt \right\} \\ &= -\mu_t^{(n-1)}(x, 1) + \left(\frac{s+1}{s} - n\right) \left[-\mu_t^{(n-2)}(x, 1) - \left(\frac{s+1}{s} - n - 1\right) \mu_t^{(n-3)}(x, 1) - \dots + \left(\frac{s+1}{s} - n - 1\right) \left(\frac{s+1}{s} - n - 2\right) \dots \left(\frac{s+1}{s} - 1\right) w(x, s) \right] \\ &= -\mu_t^{(n-1)}(x, 1) - \frac{(1-(n-1)s)}{s} \mu_t^{(n-2)}(x, 1) - \frac{(1-(n-1)s)(1-(n-2)s)}{s^2} \mu_t^{(n-3)}(x, 1) - \dots + \frac{(1-(n-1)s)(1-(n-2)s)\dots(1-s)}{s^n} w(x, s). \end{aligned}$$

Now that It is assumed that μ has an exponential order and is piecewise continuous.

$$5. AT\left[h(x) \mu_x(x, t)\right] = h(x) \frac{d}{dx} w(x, s)$$

Proof:

$$\begin{aligned} A\left[h(x) \mu_x(x, t)\right] &= \int_1^\infty h(x) t^{-\frac{s+1}{s}} \mu_x(x, t) dt \\ &= \int_1^\infty h(x) t^{-\frac{s+1}{s}} \frac{\partial}{\partial x} \mu(x, t) dt \\ &= h(x) \frac{d}{dx} \int_1^\infty t^{-\frac{s+1}{s}} \mu(x, t) dt \\ &= h(x) \frac{d}{dx} w(x, s) \end{aligned}$$

$$6. AT\left[h(x) \mu_{xx}(x, t)\right] = h(x) \frac{d^2}{dx^2} w(x, s)$$

Proof:

$$\begin{aligned}
 AT[h(x)\mu_{xx}(x, t)] &= \int_1^\infty h(x)t^{-\frac{s+1}{s}} \mu_{xx}(x, t) dt \\
 &= \int_1^\infty h(x)t^{-\frac{s+1}{s}} \frac{\partial^2}{\partial x^2} \mu(x, t) dt \\
 &= h(x) \frac{d^2}{dx^2} \int_1^\infty t^{-\frac{s+1}{s}} \mu(x, t) dt \\
 &= h(x) \frac{d^2}{dx^2} w(x, t)
 \end{aligned}$$

7. $AT[h(x)u_{xxx}(x, t)] = h(x) \frac{d^3}{dx^3} w(x, s)$

Proof:

$$\begin{aligned}
 A[h(x)\mu_{xxx}(x, t)] &= \int_1^\infty h(x)t^{-\frac{s+1}{s}} \mu_{xxx}(x, t) dt \\
 &= \int_1^\infty h(x)t^{-\frac{s+1}{s}} \frac{d^3}{dx^3} \mu(x, t) dt \\
 &= h(x) \frac{d^3}{dx^3} \int_1^\infty t^{-\frac{s+1}{s}} \mu(x, t) dt \\
 &= h(x) \frac{d^3}{dx^3} w(x, s)
 \end{aligned}$$

8. $A[h(x)\mu_x^{(n)}(x, t)] = h(x) \frac{d^n}{dx^n} w(x, s), n = 1, 2, \dots$

Proof:

$$\begin{aligned}
 A[h(x)\mu_x^{(n)}(x, t)] &= \int_1^\infty h(x)t^{-\frac{s+1}{s}} \mu_x^{(n)}(x, t) dt \\
 &= \int_1^\infty h(x)t^{-\frac{s+1}{s}} \frac{\partial^n}{\partial x^n} \mu(x, t) dt \\
 &= h(x) \frac{d^n}{dx^n} \int_1^\infty t^{-\frac{s+1}{s}} \mu(x, t) dt
 \end{aligned}$$

$$A[h(x)\mu_x^{(n)}(x, t)] = h(x) \frac{d^n}{dx^n} w(x, s)$$

9. $A[h(x)t\mu_{tx}(x, t)] = h(x) \left[-\mu_x(x, 1) + \frac{d}{dx} \left(\frac{1}{s} w(x, s) \right) \right]$

Proof:

$$\begin{aligned}
 A[h(x)t\mu_{tx}(x, t)] &= \int_1^\infty h(x)t^{-\frac{s+1}{s}+1} \mu_{tx}(x, t) dt \\
 &= h(x) \left[t^{-\frac{s+1}{s}+1} \mu_x(x, t) \Big|_1^\infty - \int_1^\infty \left(-\frac{s+1}{s} + 1 \right) t^{-\frac{s+1}{s}} \mu(x, t) dt \right] \\
 &= -h(x)\mu_x(x, 1) + h(x) \frac{d}{dx} \left[\left(\frac{1}{s} w(x, s) \right) \right] \\
 &= h(x) \left[-\mu_x(x, 1) + \frac{d}{dx} \left(\frac{1}{s} w(x, s) \right) \right]
 \end{aligned}$$

10. $A[h(x)t^n \mu_{tx}^{(n)(m)}(x, t)] = h(x) \left[-\mu_{tx}^{(n-1)(m)}(x, 1) + \frac{1+(n-1)s}{s} [-\mu_{tx}^{(n-2)(m)} \right]$

$$\left(x, 1\right) - \left(\frac{1-ns}{s}\right) \mu_{tx}^{(n-3)(m)} + \dots + \frac{d^m}{dx^m} \left[\left(\frac{1-(n-1)s}{s}\right) \left(\frac{1-ns}{s}\right) \left(\frac{1-(n+1)s}{s}\right) \dots \left(\frac{1}{s}\right) w(x, s)\right]$$

$n = 1, 2, \dots$, and $m = 1, 2, \dots$

Proof:

$$\begin{aligned} A\left[h(x) t^n \mu_{tx}^{(n)(m)}(x, t)\right] &= \int_1^\infty h(x) t^{-\frac{s+1}{s}+n} \mu_{tx}^{(n)(m)}(x, t) dt \\ &= \int_1^\infty h(x) t^{-\frac{s+1}{s}+n} \frac{\partial^m}{\partial x^m} \mu_t^{(n)}(x, t) dt \\ &= h(x) \frac{d^m}{dx^m} \left[-\mu_t^{(n-1)}(x, 1) + \left(\frac{s+1}{s} - n\right) \left[-\mu_t^{(n-2)}(x, 1) - \left(\frac{s+1}{s} - n - 1\right) \mu_t^{(n-3)}(x, 1) - \dots + \left(\frac{s+1}{s} - n - 1\right) \left(\frac{s+1}{s} - n - 2\right) \dots \left(\frac{s+1}{s} - n\right) w(x, s)\right]\right] \\ &= h(x) \left[-\mu_{tx}^{(n-1)(m)}(x, 1) + \frac{1-(n+1)s}{s} \left[-\mu_{tx}^{(n-2)(m)}(x, 1) - \left(\frac{1-ns}{s}\right) \mu_{tx}^{(n-3)(m)}(x, 1) - \dots + \frac{d^m}{dx^m} \left[\left(\frac{1-(n+1)s}{s}\right) \left(\frac{1-ns}{s}\right) \left(\frac{1-(n-1)s}{s}\right) \dots \left(\frac{1}{s}\right) w(x, s)\right]\right]\right] \end{aligned}$$

3. AT transform for basic functions:

No.	$f(x)$	$A(f(x))$
1	1	s
2	P	Ps
3	x^n	$\frac{s}{1 - ns}$
4	$\ln(x)$	s^2
5	$(\ln(x))^2$	$2s^3$
6	$(\ln(x))^3$	$6s^4$
7	$(\ln(x))^n$	$n! s^{n+1}$
8	$\cosh(a \ln(x))$	$\frac{s}{1 - a^2 s^2}$
9	$\sinh(a \ln(x))$	$\frac{as^2}{1 - a^2 s^2}$
10	$\cos(a \ln(x))$	$\frac{s}{1 + a^2 s^2}$
11	$\sin(a \ln(x))$	$\frac{as^2}{1 + a^2 s^2}$

3.1 Definition of Inverse Abeer-Al-Tememe transform

Assuming a function $\mu(x, t)$ where $(t > 1)$ and $AT(\mu(x, t)) = w(x, s)$ then, $\mu(x, t)$ is said to be the inverse for the Abeer Al-Tememe transformation and its written as: $(AT)^{-1}[w(x, s)] = \frac{1}{2\pi i} \int_{\delta-it}^{\delta+it} x^{\frac{s+1}{s}} w(x, s) ds = \mu(x, t)$

where $(AT)^{-1}$ returns the transform to the originally function.

4.Applications

Examples 4 .1

1.To solve the PDE

$$t\mu_t + \mu_x = x \ln t, \quad \mu(x, 1) = \mu(1, t) = 0$$

By taking AT to both sides of the equation, So we get

$$-\mu(x, 1) + \frac{1}{s}w + Dw = xs^2; \quad Dw = \frac{dw}{dx}$$

$$\left[\frac{1}{s} + D\right]w = xs^2$$

Now, to solve the ODE firstly we find the homogeneous solution.

$$m + \frac{1}{s} = 0 \Rightarrow m = \frac{-1}{s}$$

$$w_c = c_1(s)e^{-\frac{1}{s}x}$$

Since $\mu(1, t) = 0 \Rightarrow AT[\mu(1, t)] = w(1, s) = 0$, then

$$w_c = c_1(s)e^{-\frac{1}{s}x} = 0 \Rightarrow c_1(s) = 0$$

Now, to find the particular solution

$$\left(\frac{1}{s} + D\right)w_p = xs^2$$

$$w_p = \frac{xs^2}{\frac{1}{s} + D} = \frac{s^2}{\frac{1}{s}[1+sD]} \cdot x$$

$$w_p = s^3[1 - sD] \cdot x = s^3[x - s]$$

$$w_p = s^3x - s^4$$

By taking $(AT)^{-1}$ to both sides then we get

$$\mu = \frac{x(\ln t)^2}{2} - \frac{1}{6}(\ln t)^3$$

Example 4.2 : To solve the PDE

$$x^2\mu_{xx} + x\mu_x + t^2\mu_{tt} = xt$$

$$\mu(x, 1) = \mu_t(x, 1) = 0 \text{ and } \mu(1, t) = \mu(2, t) = 0$$

By taking AT to both sides of the equation, so we get

$$x^2D^2w + xDw - \mu_t(x, 1) - \left(\frac{1-s}{s}\right)\mu(x, 1) + \frac{1-s}{s^2}w(x, s) = x \cdot \frac{s}{1-s}$$

$$x_3^2 D^2 w + x_3 D w + \left(\frac{1-s}{s^2}\right) w = \frac{x_3 s}{1-s}$$

$$\Rightarrow \left(x_3^2 D^2 + x_3 D + \frac{1-s}{s^2}\right) w = \frac{x_3 s}{1-s}$$

Now, to solve the above ODE we assume

$$Z = \ln x_3, \text{ thus } D_1 = x_3 D, D_1(D_1 - 1) = x_3^2 D^2 \text{ and } D_1 = \frac{d}{dz}.$$

After we substitute the above assumption in the differential equation, we get

$$\left(D_1^2 + \frac{1-s}{s^2}\right) w = \frac{x_3 s}{1-s}$$

Firstly we find the homogenous solution

$$m^2 + \frac{1-s}{s^2} = 0$$

$$m^2 = -\frac{1-s}{s^2} = \frac{s-1}{s^2} \Rightarrow m = \mp \frac{\sqrt{s-1}}{s}$$

Then the homogeneous solution

$$w_c = c_1(s) e^{\frac{\sqrt{s-1}}{s} z} + c_2(s) e^{-\frac{\sqrt{s-1}}{s} z}$$

$$w_c = c_1(s) x_3^{\frac{\sqrt{s-1}}{s}} + c_2(s) x_3^{-\frac{\sqrt{s-1}}{s}}$$

Since we have $\mu(2, t) = 0 \Rightarrow AT(\mu(2, t)) = w(2, s) = 0$, then

$$w_c = c_1(s) 2^{\frac{\sqrt{s-1}}{s}} + c_2(s) 2^{-\frac{\sqrt{s-1}}{s}}$$

$$c_1(s) 2^{\frac{\sqrt{s-1}}{s}} + c_2(s) 2^{-\frac{\sqrt{s-1}}{s}} = 0 \dots (1)$$

And since we have $\mu(1, t) = 0 \Rightarrow AT(\mu(1, t)) = w(1, s) = 0$, then

$$w_c = c_1(s) 1^{\frac{\sqrt{s-1}}{s}} + c_2(s) 1^{-\frac{\sqrt{s-1}}{s}} = 0$$

$$c_1 + c_2 = 0 \Rightarrow c_1 = -c_2$$

By substitute in (1) we get that $c_1 = c_2 = 0$

Now to find the particular solution of

$$\left(D_1^2 + \frac{1-s}{s^2}\right) w(z, s) = \frac{e^z s}{1-s}$$

We substitute (1) instead of (D_1) , then to find the form of w_p

$$w_p(z, s) = \frac{e^z s^3}{(1-s)(s^2-s+1)}$$

$$w_p(x_3, s) = \frac{x_3 s^3}{(1-s)(s^2-s+1)}$$

$$\begin{aligned} \text{Taking } \frac{s^2}{(1-s)(s^2-s+1)} &= \frac{A}{1-s} + \frac{Bs+C}{s^2-s+1} \\ &= \frac{A}{1-s} + \frac{Bs+C}{\left(1-\frac{1}{2}s\right)^2 + \frac{3}{4}s^2} \end{aligned}$$

$$\Rightarrow A = 1, B = 0, c = -1$$

$$\begin{aligned} \text{Then } \frac{x s^3}{(1-s)(s^2-s+1)} &= \frac{x s}{(1-s)} - \frac{x s - \frac{1}{2} x s^2}{\left(1 - \frac{1}{2} s\right)^2 + \frac{3}{4} s^2} - \frac{\frac{1}{2} x s^2}{\left(1 - \frac{1}{2} s\right)^2 + \frac{3}{4} s^2} \\ &= \frac{x s}{(1-s)} - \frac{x s \left(1 - \frac{1}{2} s\right)}{\left(1 - \frac{1}{2} s\right)^2 + \frac{3}{4} s^2} - \frac{\frac{x}{2} s^2}{\left(1 - \frac{1}{2} s\right)^2 + \frac{3}{4} s^2} \end{aligned}$$

Now, we take $(AT)^{-1}$ to both sides, so we get

$$\mu = x t - x t^{\frac{1}{2}} \cos \frac{\sqrt{3}}{2} \ln t - \frac{x}{\sqrt{3}} t^{\frac{1}{2}} \sin \frac{\sqrt{3}}{2} \ln t$$

Example 4.3: To solve the following PDF

$$t^2 \mu_{tt} + t \mu_t + x t \mu_{tx} = x \cos \ln t$$

Where $\mu(x, 1) = \mu_t(x, 1) = 0$ and $\mu(1, t) = 0$.

By using the AT transform to both sides of the equation, so we get

$$-t \mu(x, 1) - \left(\frac{1-s}{s}\right) \mu(x, 1) + \frac{1-s}{s^2} w(x, s) - \mu(x, 1) + \frac{1}{s} w(x, s) + x D \left(\frac{1}{s} w\right) = \frac{x s}{1+s^2}; \quad Dw = \frac{dw}{dx}$$

$$\frac{1-s}{s^2} w + \frac{1}{s} w + \frac{1}{s} x Dw = \frac{x s}{1+s^2}$$

$$\left(\frac{1}{s^2} + \frac{1}{s} x Dw\right) = \frac{x s}{1+s^2}$$

Now, to solve the above ordinary differential equation we assume $z = \ln x$, thus

$$D_1 = x D \text{ and } D_1 = \frac{d}{dz}$$

After we substitute the above assumption in the differential equation, we get

$$\left(\frac{1}{s^2} + \frac{1}{s} D_1\right) = \frac{x s}{1+s^2}$$

Firstly we find the homogeneous solution

$$\frac{1}{s^2} + \frac{1}{s} m = 0$$

$$\frac{1}{s} m = \frac{-1}{s^2} \Rightarrow m = \frac{-1}{s}$$

Then the homogeneous solution.

$$w_c = c_1(s) e^{\frac{-1}{s} z}$$

$$w_c = c_1(s) x^{\frac{-1}{s}}$$

Since we have $\mu(1, t) = 0 \Rightarrow AT[\mu(1, t)] = w(1, s) = 0$

Then

$$w_c = c_1(s) 1^{\frac{-1}{s}} = 0 \Rightarrow c_1(s) = 0$$

Now to find the particular solution, we substitute (1) instead of (D_1) , then

$$\left(\frac{1}{s^2} + \frac{1}{s}\right) w_p(z, s) = \frac{e^{zs}}{1+s^2}$$

$$(1+s)w_p(z, s) = \frac{e^{zs^3}}{1+s^2} \Rightarrow w_p(z, s) = \frac{e^{zs^3}}{(1+s)(1+s^2)}$$

$$w_p(x, s) = \frac{x s^3}{(1+s)(1+s^2)}$$

$$\begin{aligned} \text{Take } \frac{s^2}{(1+s)(1+s^2)} &= \frac{A}{1+s} + \frac{Bs+C}{1+s^2} \\ &= \frac{A+As^2+Bs+C+Bs^2+Cs}{(1+s)(1+s^2)} \end{aligned}$$

$$\Rightarrow A = \frac{1}{2}, B = \frac{1}{2}, C = \frac{-1}{2}$$

$$\text{Then } \frac{x s^3}{(1+s)(1+s^2)} = \frac{\frac{1}{2} x s}{1+s} + \frac{1}{2} \frac{x s^2}{1+s^2} - \frac{\frac{1}{2} x s}{1+s^2}$$

Now we take $(AT)^{-1}$ to both sides, we obtain

$$\mu = \frac{x}{2} t^{-1} + \frac{x}{s} \sin \ln t - \frac{x}{2} \cos \ln t.$$

5.conclusions

This essay presents and explains the Abeer-Al-Tememe transform of partial derivatives and demonstrates its application to a number of initial value problems. we were able to determine the right response quite rapidly.

References

1. A.H. Mohammed, B.S. Mohammed Ali " On Studying of Al-Tememe Transformation for Partial Differential Equations" A thesis of MSc. Submitted to the council of University of Kufa, Faculty of Education for girls, 2017.
2. Abdel-Hassan, I.H., Differential transformation technique for solving higher-order initial value problem, *Applied Mathematics and Computation*, Vol.154, No. 2, 2004, pp.299-311.
3. Adem Kilicman, Hassan eltayeb Gadain, A note on integral transforms and partial differential equations, *Malaysian Journal of Mathematical Sciences*; Vol. 4, No. 1, 2010, pp. 109-118.
4. Ali H. Mohammed, Zahir M. Hussain, Hassan N. Rasoul, "Using Al-Tememe Transform to Solve Linear Partial Differential Equations with Applications" University of Kufa, Faculty of computer sciences and mathematics, (2016).
5. B.S. Grewal, "Higher Engineering Mathematics". 42nd ed. Khanna Publishers. 1998.
6. Emad Kuffil, Elaf Sabah Abbas, Sarah Faleh Maktoof, Solving The Beam Deflection Problem Using Al-Tememe Transforms, *Journal of Mechanics of Continua and Mathematical Sciences*, Vol. 14. No. 4, 2019, pp. 519-527.
7. Erwin Kreyszig, "Advanced Engineering Mathematics". 9th ed. WILEY.2014.
8. Jaabar, Sahar Muhsen, and Ahmed Hadi Hussain. "Solving linear system of third order of PDEs by using Al-Zughair transform." *Journal of Discrete Mathematical Sciences and Cryptography* Vol.24, No. 6, 2021, pp.1683-1688.
9. K. S. Aboodh, R.A. Farah, I.A. Almardy and F.A. Almostafa, Solution of Telegraph Equation by Using Double Aboodh Transform, *Elixir Appl. Math.* 110 (2017), pp. 48213-48217.
10. Lokenath Debnath and D. Bhatta, *Integral transform and their Applications*, 2nd edition, Chapman and Hall/CRC. 2006.
11. Mohammed, Ali Hassan, Alaa Saleh Hadi, and Hassan Nadem Rasoul. "Integration of the Al Tememe Transformation To find the Inverse of Transformation And Solving Some LODEs With mathematics Vol.9, No. 2, 2017, pp.88-93.
12. Santanu Saha Ray, Om P. Agrawal, R. K. Bera, Shantanu Das, T. Raja Sekhar, Analytical and ation that Numerical Methods for Solving Partial Differential Equations and Integral Equations Arising in et partial Physical Models, Hindawi Publishing Corporation: Abstract and Applied Analysis, Volume 2014, pp. 1-3.
13. Shams A. Ahmed, Tarig M. Elzaki, Mohamed Elbadri, Mohamed Z. Mohamed, Solution of partial differential equations by new double integral transform (Laplace - Sumudu transform), *Ain Shams Engineering Journal*, 2021.
14. Thomas Hillen, I. E. Leonard, Henry van Roessel, *Partial Differential Equations: Theory and Completely Solved Problems*, 1st ed. Wiley. 2012.
15. Transformation for Partial Differential Equations" A thesis of MSc. Submitted to the council of University of Kufa, Faculty of Education for girls, 2017.
16. Wei-Chau Xie, *Differential Equations for Engineers*, Cambridge university press. 2010.